








Coordinate of C = (x; + (1/5) * (X5 - X4), Y1 + (1/5) * (Y2 - Y1)

Coordinate: X;+1/5 (X, =X;) Y;+1/5(Y,-Y,)
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Find missing coordinate

Y =-14X+10
X=2

Y=25X-5
X=10

-Y =12X-24
X=4

Y=2/3X+12
X=6
Y=-1/5X-15
X=10

-Y =1/10X-22
X=100



. . Y=2/6 X-10
3. Find the missing X =6
coordinates
Y=
4-
B (28,32)

E(5/6 from A)

(Mid-point)

C(1/6 from A)

A (12,20)

Y=-2/3X+17
X=12
Y=

Coordinates for

C:

D:

E:

Slope of line AB: _

Distance from Cto D

Y = 4X + 20




Find the length of the altitude line  Who youis

28

Bonus: What are the two questions MacGyver
asks when confronted with a problem?

110 222



Find the coordinates

R(1/2 from A)

Q (1/5from A)

S (3/4 from A)

What is the distance from Ato B?

What is the slope of the line?

What is the distance from Q to R?







